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HRX 38517 86,971 41,500 45471
RIRET1T 6 15 9 6
RIRET2T 25 53 25 28
AIEET3T 180 596 293 303
RIRET4T 405 983 485 498
B 616 1,647 812 835
REH 2,663 6,204 2,912 3,292
L&A 4222 9,530 4,486 5,044
5E 2,556 6,020 2,928 3,092
B AN 1,259 2,872 1,338 1,534
BERT 1,265 1,935 914 1,021
BER2T 690 1,342 650 692
BHERST 388 876 429 447
g 2,343 4,153 1,993 2,160
BARE 256 650 329 321
= 2,199 5,244 2,477 2,767
hERE 628 1,455 663 792
e 2,397 5,224 2,510 2,714
25 L ET 2,244 5113 2,445 2,668
B &AL BT 78 167 67 100
HEFILET1T 565 1,216 572 644
HEFILET2T 619 1,373 646 727
HEZFILAT3T 607 1,441 710 731
g 1,869 4,197 1,995 2,202
B & it B Fr ET 688 1,656 800 856
BHEREBET1T 601 1,233 588 645
BHERERET2T 759 1,759 857 902
BHERERETST 778 1,687 768 919
HERERET4T 450 970 473 497
HEHFMHETST 820 1,698 802 896
HEHFHET6T 880 2,011 961 1,050
HEFRET7T 828 1,841 885 956
HERERETST 71 217 101 116
£t| 5187 11416 5,435 5,981
HEF R FET 1,841 3,971 1,929 2,042
S|EFET1T 572 1,545 770 775
S|EFET2T 761 1,819 869 950
S|EFET3 T 718 1,439 675 764
g 2,051 4,803 2,314 2,489
ERE1T 571 1,348 643 705
EIRET2T 388 1,035 517 518
EREIST 472 1,314 641 673
EIRETAT 696 1,539 701 838
EIZEIST 488 1,008 511 497
g 2,615 6,244 3,013 3,231
MEH 2,771 6,353 3,023 3,330
J\THET1T 32 36 12 24
J\THET2T 26 64 31 33
J\THEI3T 54 119 55 64
B 112 219 98 121
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